21 (600 AIIAOl) Agiael & 1 (610 Feiaol) geiaol
Mg (611 Al8Z2=+) Ag8EsY £ :(01) JIEE (¢t @ ®H)
J:‘.l_} &t Ml & : o & = gﬂ E Q'E" s 2
= Al 42,983,738 | 30,477,857 12,505,881
600 At =< 10,827,738 7,738,457 3,089,281
610 == 5,696,898 5,562,617 134,281
611 MEZ < 5,485,538 5,353,957 131,581
01 JIEE 1,377,749 1,363,797 13,952
0o &xEF 89& x 15,300,654= = 1,361,759
o Xlot=+=& 1733 x 92,424 = 15,990
02 238 594,869 576,059 18,810
O g=R=E 164,008
o axEF 1518 x 1,029,059 = 155,388
o Kot+=& 3243 x 26,604E = 8,620
O B3E8 430,861
o axkF 2663 x 1,099,752& = 292,535
o Xlot=+=2 2833 x 488,784= = 138,326
03 getE 1,788,925 1,701,980 86,945
o &ax=EF 3108 x 4,237,462& = 1,313,614
o Xlot=+=& 4393 x 1,082,712& = 475,311
04 UEEE 341,507 325,252 16,255
O =2E&E 18 318,769
o &xEF 2633 x 251,520€ = 66,150
o Xlot==& 2963 x 853,440& = 252,619
O =2EE 28 22,738
o &xEF 2833 x 63,953& = 18,099
o Xlot=& 4683 x 9,912& = 4,639
05 HALZSAS 1,382,488 1,386,869 A4,381
OuHE 65,195




B (600 M40l Aeiaol & (610 Fwol) Pe4ol
Mg © (611 ABE%+0l) N8RS S 1 (05) MRRBAS (23l ma)
L = = -
2.8 - A8 - = oo gay | S
o ==& 1403 x 23,778& = 3,329
o Kote=& 1403 x 441,900 = 61,866
O zom 1,317,293
o &==k& 253 x 623,160& = 15,579
o Xlote== 25% x 52,068,528 = 1,301,714
661 JIEIE S 211,360 208,660 2,700
03 JlEt==2 9 114,160 114,160 0
O 2a+HAel ==& 1.6& x 5,945,870¢ x 128 = 114,160
09 JIEtEH =2 97,200 94,500 2,700
O si+zei AEHel FHS(RIH DE AR) B +
36,0003 x 9& x 300€ = 97,200
670 P22 5,130,840 2,175,840 2,955,000
671 Ol Xt==¢< 75,000 75,000 0
01 OI=0l k=< 75,000 75,000 0
O 3302 0l k=¥ 75,000,000& x 14l = 75,000
672 ElAEYsS+= 5,055,000 2,100,000 2,955,000
03 LB3AXNHZ 5,000,000 2,000,000 3,000,000
O s4BLHlH LAY YsH NS
5,000,000,000& x 14 = 5,000,000
06 =1EXZ 55,000 100,000 A 45,000
O si42iXl AZWEAALAY SNS 0N 48 FDDES
55,000,000& x 14 = 55,000
679 JIEtE 2= 840 840 0
01 JIEIS =2 840 0 840
O S4HATU H5I2E L HINS0 UE MR +2
70,0008 x 12E = 840
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